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QUESTION 1

Using SnapCenter 4.0, you are restoring a virtual machine. Which additional tool would be used to monitor the restore?
A. VMware vSphere Web client

B. Virtual Storage Console

C. OnCommand System Manager

D. OnCommand Unified Manager

Correct Answer: A

QUESTION 2

What are three prerequisites for replicating an Element OS volume to ONTAP? (Choose three.)
A. SnapMirror must be licensed on the SolidFire cluster.

B. The ONTAP cluster must be running ONTAP 9.3 or later.

C. SnapVault must be licensed on the ONTAP cluster.

D. Enable SnapMirror on the SolidFire cluster.

E. SnapMirror must be licensed on the ONTAP cluster.

Correct Answer: ADE

Reference: https://www.netapp.com/us/media/tr-4651.pdf

QUESTION 3

You create a Snapshot copy of a NetApp volume in either OnCommand System Manager or through the ONTAP CLI.
In this scenario, what happens?

A. A redirect-on-write Snapshot copy is created and stored within the volume.

B. A copy-on-write Snapshot copy is created and stored within the volume.

C. A redirect-on-write Snapshot copy is created and stored within the aggregate.

D. A copy-on-write Snapshot copy is created and stored within the aggregate.

Correct Answer: B

QUESTION 4
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To ensure enough bandwidth for other applications, you want to restrict all replication bandwidth on your destination
cluster.

How would you accomplish this task?

A. Using OnCommand System Manager on your source cluster, create a QoS policy on the source.

B. Using the ONTAP CLI, enable global throttling on the source cluster.

C. Using OnCommand System Manager on your destination cluster, create a QoS policy on the destination.
D. Using the ONTAP CLI, enable global throttling on the destination cluster.

Correct Answer: B

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.pow-dap/GUID-BBEDC81C-23CE47FE-
A242-F39846A8DD7F.html

QUESTION 5

Which two statements are correct about MetroCluster IP requirements for intercluster LIFs? (Choose two.)
A. At least one interface per node is required.

B. Either an IPv6 address or IPv4 address is required.

C. A dedicated network port is required.

D. Jumbo frames are required.

Correct Answer: BC
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